Zinc Pull with Switching Function

UWF'SW JVIW>F - AA(YFDOE

AA4vF: 1@

L1

B ALY F

=2 i : NS F—=Jik: ARTY

P ) i}
| ) ax09 .
M12

®15

o HE- LIS Orons
UWEF-SW
BT ANAL

G )

A vF SUS3044824

=) PUR(RUDLI)

o RUA—RFE—

FETUFERILN

(RUHEI—ER) SUSXM7

® Bl DI

T=TIDEBEZERHLI D RUDIFRICENUARNKS
ICUTLEE LY,

ZAvF 1@ 17
®15~¢22

2LvF 2@ ‘

TR WAAY ©
WY

~——

23.5

T IYU—Vkig - TU— A = Pooox
SHARE]

N\ NBK @E/17y021 0575-23-1162

L L
UWF-B1-C-BK-SW
UWF-B2-P-SG-SW

f

/

® XAwF - LEDZE— L UIc YV IBOF, 815t -IDOF
EZHIRLET .

o XA(wFEEBEDLEDUYITSAMQ2E K- R)ZEEDE
HTRIOTERTENTERXT,

& FFTCRAvFEB>FORBHREN T 8. ENEE KUMER
B,

® IENDEICKVDPHLI A TDEBRE,

® ERESICKIAMYFOHNBIRTEET,

Bl —R1vF1{@
B2 RAvF2{@
o r—TILDHiEIF 3TEE, MR ESICKUBIRTEET.
ERiES =7 Vi y—-IRE
Cc-2 INSHR 2m
C-5 INSHR 5m
P-0.25 axJ9 0.25m

e HS—NUI—2avEF2&E, BRESICIURBIRTEXT,

RS &
BK DRHUE
SG DRHELVILIN—

& A FVayTRUDIFADNATRMGEMRIL S (SUSXM7 )
ZBLET . QUHBEY —EX (BIRE) ZTHRLIEE L,

/ L—HZIEN = P.xxxx
G - BIEE

info@nbk1560.com https://www.nbk1560.com

® {1#%

AAYF

LEDUY IS4k
(7R - #%)

ERSERERIC
BIVEAEELER

=R

Z Dt

o AL

UWF-B1-C-2-SW 33158
UWF-B1-C-5-SW |33 158
UWF-B1-P-0.25-SW 33 158

Eatp

BER X

BERME
ERREREE(IRTY)
ERIEREE (/NSR)
B

BRHED

EFEE

HEER

AC 15: 24V AC/ 1A
DC 13:24v DC/ 0.7A

AC 15: 110V AC/ 1A
DC 13: 110V DC/ 0.2A

AC 15: 220V AC/ 0.5A
DC 13: 220V DC/ 0.1A

AC: 120V AC/ 5A
DC:12v DC/ 1A

AC: 240V AC/ 3A

INSHR

axI9

IPIREL

SREE

Br H L L2 Lf M

10.2 /44 117 105.5/12 M6
10.2 44117 |105.5 12 /M6
10.2 /44 117 105.5/12 M6

UWF-B2-C-2-SW 33/181.5/10.2 44 117 |105.5 12 M6
UWF-B2-C-5-SW 33/181.5/10.2/44 117 |105.5 |12 M6
UWF-B2-P-0.25-SW 33 |181.5|10.2 |44 117 |105.5 12 M6

*1: AOFCTHERIIHFEEECT .

o iR m

T—TIOERBICIRIIDET—

JIL[USCA-M12-5| & E T

N NBK @z r7yoau

0575-23-1162

AYF

&
1@
1@
218
218
2@

CRE (BBIETE)
E—XVIY

i

&K125V

&K 240V

=®A3A

#¥i1005m@

5P E (RAREE)
DC24V + 10%
7mA

IEC 60947 -5- 1 ##L

UL 508 #e#l

EL
(PURT—T)b. 2m3&fzld5m)

M12 AJ—R 54& # R
(PURT—T')b. 0.25m)

P67
CEX—+V7

HEEE
)

INSHR 2 1000
INSHR 5 1000
ax7%9 0.25 1000
NS 2 1000
ISR 5 1000
ax7%9 0.25 1000

=TV La(m)

-

& XA vFOsK

m
I—4
s U3

e LEDIOIX
LED 7R
e

NI
1%l
1A
SN

W

LED #&

& IRJIEVERT

17

O® P

37

@ ® @ 3

® 5—
EAT—I -

HE(g)
- 480
- 548
USCA-M12 - 5-%% 530
= 540
- 608

USCA-M12 - 5-%% 597

t 51 (I 325

B mm
RURBY—ER
ALY

M6X12
M6X12
M6X12
M6X12
M6X12
M6X12

o REIETE xMliHE - MEAIENBKIT T A M ETELI TV,

UWEF-B1-C-2-BK-SW

ey

S

\
[

B

UWEF-B1-C-2-BK-SW-P

T

[EIE)

s

LTLEE L,

info@nbk1560.com

P
[l RUME

S T—EXR
RUMEBY—EX (BI#E) ZCFHADBER. MRRBEOKREC[-P]ZEN

https://www.nbk1560.com



